


Select the part of the sentence which has an error from the 

given options. Select 'No error' if all are correct. 



There was a light breeze (A) all year round (B) 

and it rained each day (C) in the monsoon

season. (D) 

1. A

2. B

3. C

4. D

5. No error



The car crash suffered by (A) Vijay was horrific, 

he could (B) not feel his legs at all. (C) There 

was a littlest hope of his recovery. (D) 

1. A

2. B

3. C

4. D

5. No error



If Ana had informed me/ (A) about Rohan's 

absence earlier,/ (B) I would hired someone/ (C) 

in his place. (D) 

1. A

2. B

3. C

4. D

5. No error



When you boil the water/ (A) on the heater even 

for an hour/ (B), the boiling point temperature of 

the water/ (C) will not rise above 100° C. (D) 

1. A

2. B

3. C

4. D

5. No error



The elegant classical squares which were /(A) 

originally laid out by aristocratic developers in 

/(B) the eighteenth century is a striking /(C) 

feature of the central areas of the capital. (D) 

1. A

2. B

3. C

4. D

5. No error



A sentence/ part of the sentence is underlined. Five 

alternatives are given to the underlined part which will 

improve the meaning of the sentence. Choose the correct 

alternative. If no improvement is needed, then choose the 

option of 'No improvement'.



Jude Fawley dreams of studying at the university 

in Christminster, therefore his background as a 

orphan raised by his working-class aunt leads 

him instead into a career as a stonemason.

1. and his background as an orphan

2. but his background as an orphan

3. but his background as a orphan

4. thus his background as an orphan 

5. No improvement



His second visit to the prison was at the age of 

57 when he took at the then prime minister 

Indira Gandhi during the emergency.

1. took for

2. took from

3. took as

4. took on

5. No improvement



Mr. Trump’s recourse to repeated disinformation and 

his questionable way of governance have never been 

an impediment to his core support base for whom 

“political correctness”, intellectualism, and 

progressive ideals have been anathema.

1. governance have not been

2. governant have never been

3. governance has never been

4. government have never been

5. No improvement



In each of the questions given below, four words are 

given in bold. These four words may or may not be in their 

correct positions. The sentence is then followed by options 

with the correct combination of words that should replace 

each other in order to make the sentence grammatically 

and contextually correct. Find the correct combination of 

words that replace each other. If the sentence is correct as 

it is, select '5' as your option. 



Sam had graduated (A) from found (B) school 2 years 

ago and still hadn't architecture (C) a steady job. (D)

1. D-B

2. C-B

3. A-B

4. D-A

5. No Rearrangement



They looked (A) at the actor (B) and asked him to 

memorize (C) the script (D) a little better the next time. 

1. A-B

2. B-C

3. C-D

4. D-A

5. No Rearrangement



For a lot of good (A) their children (B) being intelligent 

(C) is more important than them being people (D)

1. B-A

2. D-C

3. D-A

4. C-D

5. No Rearrangement



The drug (A) was really loved (B) by all his fans but 

no one knew (C) of his artist (D) addiction. 

1. C-B

2. A-B

3. D-A

4. C-D

5. No Rearrangement



While unnecessary (A) may seem like a glorious (B) 

way to sacrifice life, the truth (C) is that most wars are 

war. (D)

1. A-B

2. B-C

3. C-D

4. D-A

5. No Rearrangement



The question below consists of a set of six labelled sentences. 

They are all sentences of the same paragraph but their order has 

been jumbled. Sentence C given below is the third sentence in 

the correct order. Arrange the other five sentences in their 

correct order to make a coherent paragraph and answer the 

questions that follow:



A. Once inside, they would be impressed by the cordiality of the 

service and decided to check into the inn.

B. The innkeeper learned that there are hardly a few things people 

delight in more than finding fault with other people's work.

C. Once the innkeeper did as he was told, every traveller who 

passed by the inn walked in to point out the mistake.

D. This provided the innkeeper with the fortune that he had sought 

in vain for so long.

E. An innkeeper was unable to make both ends meet even though 

he did his best to draw customers by making his inn comfortable.

F. In order to solve his problem, he consulted a sage who advised 

him to change the name of his inn to 'The Five Bells Inn', but hang 

six bells at the entrance.

Which of the following 

is the second sentence 

after rearrangement?

1. A

2. B

3. D

4. E

5. F
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